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Question Number : 1 Question Id : 87827049380 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In which of the following case, the Supreme Court of India held that "the rule of res judicata applies to a petition filed under
Article 32 of the Constitution and if a petition filed by a petitioner in the High Court under Article 226 of the Constituion is
dismissed on merits such decision would operate as res judicata so as to bar a simialr petition in the Supreme Court under

Article 32 of the Constituion”.

1. State of U.P v Nawab Hussain

2. Gulam Abbas v State of U P

3. Daryao v. State of UP

4 Iftikar Ahmed v. Syed Meharban Al

Options :

878270194241. 1
878270194242. 2
878270194243. 3

878270194244. 4



Question Number : 1 Question Id : 87827049380 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194241. 1
878270194242. 2
878270194243. 3
878270194244. 4

Question Number : 2 Question Id : 87827049381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The chief exponent of "auto limitation theory" regarding basis of International law is

1. Starke

2. Jellinek

3. Hart

4 Oppenheim
Options :
878270194245. 1
878270194246. 2



878270194247. 3

878270194248. 4

Question Number : 2 Question Id : 87827049381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

SRIP BT & YR & Fay H "<aa: JAT fagia &1 e ufaues ©

1. WD
3. 8Id

Options:

878270194245. 1
878270194246. 2
878270194247. 3

878270194248. 4

Question Number : 3 Question Id : 87827049382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

"Individual is the ultimate unit of all laws, International or municipal”- given by -

1. Austin

2. Lauterpacht
3 Starke

4 Fenwick

Options :
878270194249. 1

878270194250. 2



878270194251. 3

878270194252. 4

Question Number : 3 Question Id : 87827049382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194249. 1
878270194250. 2
878270194251. 3

878270194252. 4

Question Number : 4 Question Id : 87827049383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following associated with "Droit Administratif”

1. Edward Coke

2. Montesquieu

3. Aristotle

4 Napolean Bonaparte

Options :
878270194253. 1

878270194254. 2



878270194255. 3

878270194256. 4

Question Number : 4 Question Id : 87827049383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194253. 1
878270194254. 2
878270194255. 3

878270194256. 4

Question Number : 5 Question Id : 87827049384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In which of the following case, the Supreme Court of India held that the Indian Consitutuion has not indeed recognised the
Doctrine of Separation of Power in its absolute rigidity but the functions of the different parts of the government have been
sufficientty differentiated:

1.Indira Nehru Gandhiv. Raj Narain

2 Maneka Gandhi v. Union of India

3. AK Kraipak v. Union of India

4 Ram Jawaya Kapur v. State of Punjab

Options :



878270194257. 1
878270194258. 2
878270194259. 3

878270194260. 4

Question Number : 5 Question Id : 87827049384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194257. 1
878270194258. 2
878270194259. 3

878270194260. 4

Question Number : 6 Question Id : 87827049385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Section 5 of the Limitation Act, 1963 applicable on

1. Suits. appeals and applications

2. Suits and appeals only

3. Appeals and Application related with executions
4 Appeals and Application other than executions



Options :

878270194261. 1
878270194262. 2
878270194263. 3
878270194264. 4

Question Number : 6 Question Id : 87827049385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i sfafay, 1963 @t URT 5 FofaRad g w ar s 8 2
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4. BE & 3fear e IR MdgA

Options :

878270194261. 1
878270194262. 2
878270194263. 3
878270194264. 4

Question Number : 7 Question Id : 87827049386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-ll

(A).Time barred Debt

(1). Right in personam

(B). Right to reputation

(11). Personal right

(C). Right arsing out of a contract

(111) Imperfect right

(D). Right to physical integrity

(IWV}.Right in rem

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (llT), (C} - (I, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1IT)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (I1)
Options :

878270194265. 1
878270194266. 2
878270194267. 3

878270194268. 4

Question Number : 7 Question Id : 87827049386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (1), (B) - (I}, (C) - {IIIj (D) - (IV)

2. (A)-(1), (B) - III} (C) -, (D) - (IV)

3. (A) - (), (B) - (1), (C) - {I"u’jf ) - ()

4 (A)- (), (B) - { V), (C) - (1), (D) - (1)
Options:

878270194265. 1
878270194266. 2
878270194267. 3

878270194268. 4

Question Number : 8 Question Id : 87827049387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

President can return the advice of the Cabinet for reconsideration

1. Twice only

2. Any number of times
3. Once only

4 Not even once

Options :
878270194269. 1
878270194270. 2

878270194271. 3



878270194272. 4

Question Number : 8 Question Id : 87827049387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

APUfd AEHST ST Halg & HiddR & U agd & §od &
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Options :

878270194269. 1
878270194270. 2
878270194271.3
878270194272. 4

Question Number : 9 Question Id : 87827049388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Right guranteed under Article 25 is subject to

1. Fundamental rights, dignity and privacy

2. Public order, morality and health and the other provisions of Part Il
3. Public order, decency and health and the other provisions of Part [V
4. Public order, morality and health and the Article 14

Options :
878270194273. 1
878270194274. 2

878270194275. 3



878270194276. 4

Question Number : 9 Question Id : 87827049388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194273. 1
878270194274. 2
878270194275. 3

878270194276. 4

Question Number : 10 Question Id : 87827049389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Unless approved by the State legislature, the ordinance issued by the Governor shall cease to operate at the expiration of

1. One year
2. Six months
3. Six weeks
4 Two months

Options :
878270194277. 1

878270194278. 2



878270194279. 3

878270194280. 4

Question Number : 10 Question Id : 87827049389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194277. 1
878270194278. 2
878270194279. 3
878270194280. 4

Question Number : 11 Question Id : 87827049390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I List-l

Article in the Constitution of India| Provision

(A). Article 54 (). Constitution of Parliament

(B). Article 75 (I1). Composition of the Council of States
(C). Article 79 (I11). Election of President

(D). Article 80 (IV). Appointment of Pnime Minister

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (1), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)

Options :

878270194281. 1
878270194282. 2
878270194283. 3
878270194284. 4

Question Number : 11 Question Id : 87827049390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A)-(1), (B)-(II), (C)-(In), (D)-(IV
2. (A)-(1), (B)-(I), (C)-(I1), (D)-(IV
3. (A)-(1), (B)-(II), (C)-(IV), (D)-(lll
4. (A)-(1I1), (B)-(IV), (C)-(I), (D)-(ll

)
)
)
)

Options:

878270194281. 1
878270194282. 2
878270194283. 3
878270194284. 4

Question Number : 12 Question Id : 87827049391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I

List-lI

Legal Concept/Theory proposed/, etc

Judicial Decision, Author/Thinker/ete.

(A).Right to privacy

(1}. Justice (Retired) Puttaswami v Union of India

(B). Death penalty

(I1). Bachan Singh Case

(C). Prisoners right

(lll). Maneka Gandhi Case

(D). Rightto go abroad

(IV).Sunil Batra Case

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (11T}, (D) -

2. (A)- (1), (B) - (lir), (C)-(In), (D) -

3. (A)- (1), (B) - (In), (C) - (IV), (D) -

4.(A)- (1, (B) - (IV), (C) - (1), (D) -
Options :

878270194285. 1
878270194286. 2
878270194287. 3

878270194288. 4

Question Number : 12 Question Id : 87827049391 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
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Correct Marks : 4 Wrong Marks : 1
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1. (A)- (), (B) - (1), (C) - {|||J (D} - (IV)

2. (A)- (D), (B) - (1), (C}) - (), (D) - (IV})

3. (A)- (D), (B) - (1), (C) - {WJ D) - (11}

4 (A)- (D, (B) - (IV), (C) - (1), (D) - (I}

Options :

878270194285. 1
878270194286. 2
878270194287. 3

878270194288. 4

Question Number : 13 Question Id : 87827049392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Savigny's Theory is based on

1. Greek Law

2. Common Law
3. Roman Law
4 Spanish Law

Options :
878270194289. 1
878270194290. 2

878270194291. 3



878270194292. 4

Question Number : 13 Question Id : 87827049392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. AT S
2. WHH B

3. 9 BIA

Options :

878270194289. 1
878270194290. 2
878270194291. 3
878270194292. 4

Question Number : 14 Question Id : 87827049393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Res Nullius rule implies

1. Aright of easement aquired after a passage of time prescribed by law

2. Owner of a property has right fo take benfit form the property

J. Where there is an extinction of previous ownership by an independent adverse act of an aquirer
4. For previously ownerless object, the perosn took the object as the owner

Options :
878270194293. 1
878270194294. 2

878270194295. 3



878270194296. 4

Question Number : 14 Question Id : 87827049393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194293. 1
878270194294. 2
878270194295. 3

878270194296. 4

Question Number : 15 Question Id : 87827049394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I List-Il

Jurist / Thinker Legal concept/ School/ Doctrine

(A). Grotious (I). De Jure Belli ac Pacis

(B). Austin (I). Natural law giving imperative to do good and avoid evil
(C). Thomas Aguinas (I1). Postive morality

(D). Samuelvon Pufendrof (V). Supremacy of law of Nature

Choose the correct answer from the options given below:

1. (A)-(1), (B) - (II), (C) - (IIT), (D) - (IV)

2. (A)- (1), (B) - (111), (C) - (I1), (D) - (IV)

3. (A)-(I), (B) - (In), (C) - (IV), (D) - (lir)

4. (A) - (llI), (B) - (I), (C) - (1), (D) - (1)
Options :

878270194297. 1
878270194298. 2
878270194299. 3
878270194300. 4

Question Number : 15 Question Id : 87827049394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (), (B) - (IN), (C) - {|||:| (D) - (IV)
2 (A) - (1), (B) - (Ill), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (V). (D) - (Ill)
4 (A) - (lll), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270194297. 1
878270194298. 2
878270194299. 3

878270194300. 4

Question Number : 16 Question Id : 87827049395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the section in Code of Criminal Procedure Code. 1973 deals with "set off" ?

1. Section 427
2. Section 190
3. Section 428
4 Section 328

Options :
878270194301. 1
878270194302. 2

878270194303. 3



878270194304. 4

Question Number : 16 Question Id : 87827049395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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T

Options :

878270194301. 1
878270194302. 2
878270194303. 3

878270194304. 4

Question Number : 17 Question Id : 87827049396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is correct with reference to Tranfer of Property Act, 1882

(A). Transfer of Property Act deals only with immmovable property

(B). Transfer of Property Act deals with both movable and immmovable property

(C). Property may be transferred orally under the Transfer of Property Act, 1882 in all cases
(D). Property can be transferred orally under Transfer of Property Act, 1682

Choose the correct answer from the options given below:

1.(B)
2 (A),
3. (A),
4 (B),

nd (C) only.

(G

B) and (C) only.
B), (C) and (D).
C)and (D) only

a
(
(
(
Options :

878270194305. 1
878270194306. 2
878270194307.3

878270194308. 4

Question Number : 17 Question Id : 87827049396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.(B) 3R (C) Baa

2 (A), (B) R (C) Haq
3.(A), B),(C) ¥R O)
4. (B), (C}Gﬂ'{[_D)W

Options :

878270194305. 1
878270194306. 2
878270194307. 3

878270194308. 4

Question Number : 18 Question Id : 87827049397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements
(A). Constitutional Amendment Bill be introduced only with the prior permssion of the President
(B). Evenif both the Houses of the Parliament passed the Constitutional Amendment Bill President can refuse to sign

(C). If both the Houses of the Parliament passed the Constituional Amendment Bill, it mandatory for President to sign
and there is provision for joint sitting.

(D). If both the Houses of the Parliament has passed the Constitutional Amendment Bill, itis discretionary for the
President fo sign and there is provision for joint sitting.

Choose the correct answer from the options given below:

(A), (B)and (D) only.
(A) and (C) only
C) only

)

1
2
3.
4.(D) only

(
(
Options :

878270194309. 1
878270194310. 2

878270194311. 3

878270194312. 4

Question Number : 18 Question Id : 87827049397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(B) T ¥ 5 i e+ o SR fodm i e o e SRR @ 6 W g

(€) T W% ST e 3 0 e o ik % ot & o g o e e offand 8 <R ¥ 6@
 folt A 3|

(0) TG ¥ & G et 4 S e o Wik G 8 1 50 R e e g 1 oo & o
TR 335 o o0 TaYH 2|
I R ]

1. 990 (4), (B) R D)
2 Baa(A) AR (C)
3994 (C)

4. %94 D)

Options :

878270194309. 1
878270194310. 2
878270194311. 3

878270194312. 4

Question Number : 19 Question Id : 87827049398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Where the President issued Proclamation under Article 356, the President may by Proclamation

(A). assume to himself all or any functions of the Government of the States

(B). assume to himself all or any powers vested in or exercisable by the Governor

(C). declare that the powers of the legislature of the State shall be exercisable by or under the authority of Parliament.
(D). assume to himself any powers vested in or exercisable by a High Court

Choose the correct answer from the options given below:

1.(A), (B) and (D) only.
2. (A), (B) and (C) only.
3.(A), (B), [C)and(
4.(B), (C) and (D) only

Options :

878270194313. 1
878270194314. 2
878270194315. 3

878270194316. 4

Question Number : 19 Question Id : 87827049398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) Todl 1 TR o 44 1 el +ft el T e T e

(B) TwdUTRT R FHfe a1 WA i ff Wl arel @il 41 Tt +f ikl 1 ¥d 80 |

(C) T TN Rl & 1ob o  fayri et a1 Siidkrdl 1 WO UG WO B FR7 91 36 S T e

(D) [t 3= Ty # Fifed 91 99 BRI WA o1 ol 9o arcll fove o e &l %ol Te e
Tt d I @ sw T
1. & (A), (B) 3R ()
2 Had (A), (B) AR (C)
3.(A), (B), (C) ¥R (D)
4 B34 (B), (C) IR (D)

Options :

878270194313. 1
878270194314. 2
878270194315. 3

878270194316. 4

Question Number : 20 Question Id : 87827049399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following with reference to fundamental rights and directive principles
(A). Primacy is not given to all fundamental rights over directive principles
(B). Primacy is given to all fundamental rights from Article 14 to Article 32 over directive principles

(C). Primacy is given only to Directive Priniciples contained in Art. 39(b) and Art. 39 (c) over the fundamental rights
under Arts. 14 and 19

(D). Primacy is given only fo Directive Priniciples contained in Art. 39(z) and Art. 39 (b) over the fundamental rights
under Arts. 14 and 19

Choose the correct answer from the options given below:

Options :

878270194317. 1
878270194318. 2
878270194319. 3
878270194320. 4

Question Number : 20 Question Id : 87827049399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ao @R ok Fews Riglal & dew A ufeu
(A) FeT® gl ot Ao SRIBRT @ JU T T8
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Options :

878270194317. 1
878270194318. 2
878270194319. 3

878270194320. 4

Question Number : 21 Question Id : 87827049400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A decree for restitution of conjugal nghts can be executed in India by

1. Attachment of the property of the respondent
2. Attachment of the property of the respondent and by arresting the respondent
3. Arrest of the respondent

4. Either Attachment of the property of the respondent or by arresting the respondent

Options:

878270194321. 1



878270194322. 2
878270194323. 3

878270194324. 4

Question Number : 21 Question Id : 87827049400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jale® AUBRI & TAHG (TR ) & [0 0F fS@! YR ¥ &y Fsaiied @ of 9! &

1. Hioidrdl & Suii &t Habi

2. Afdardl & Hufd & $ai AR Ufaar! o FRER b

3. iddrel B1 FRER!

4. 7141 IS @1 SUR @ B! Bxd U1 Hiadig) df TRER b

Options:

878270194321. 1
878270194322. 2
878270194323. 3
878270194324. 4

Question Number : 22 Question Id : 87827049401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Where in order to give effect to international agreement the Parliament enacts law on matter enumerated in the State List
without consulting the affected states, the law is

(A). Void

(B). Valid

(C). Void to the extent of encroachment

(D). Valid only to the extent affected state has given the consent
Choose the correct answer from the options given below

(A), (B) and (D) only.
(B) and (C) only
(B) only
(D) only

1
2
3
4
Options :

878270194325. 1
878270194326. 2
878270194327.3

878270194328. 4

Question Number : 22 Question Id : 87827049401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A), (B) ¥R D)
WET@)
B‘s

(
(
(
D)

2. Hd
3. %
4. F
Options :

878270194325. 1
878270194326. 2

878270194327. 3

878270194328. 4

Question Number : 23 Question Id : 87827049402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sequence the following as it appears in the Preamble of the Constitution of India.
(A). Democratic- Fraternity

(B). Secular- Equality

(C). Socialist- Liberty

(D). Sovereign- Justice

Choose the correct answer from the options given below:

Options :

878270194329. 1
878270194330. 2
878270194331. 3

878270194332. 4

Question Number : 23 Question Id : 87827049402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fufeiad @ FHes &, SO A H T URd & oy S SERIGTH 3 &
(A) T diD-aed

(B) Tuf-Rue-gam=a

(C) GHISEIG! Fgd=dl

(D) GUY-=TT

=td fau e fadedl & ¥ 981 SR 4|

D).
B).
A).
A).

1. (A), (B), (C),
2. (D), (C), (A,
3. (D), (C), (B),
4. (C), (B), (D),

(
(
(
(
Options :
878270194329. 1
878270194330. 2
878270194331. 3

878270194332. 4

Question Number : 24 Question Id : 87827049403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the exclusive power of the House of People

1. Impeachment of the President of India

2. To pass non-confidence motion against Council of Ministers
3. To ratify the declaration of national emergency

4 To pass Constitutional Amendment Bill

Options:
878270194333. 1

878270194334. 2



878270194335. 3

878270194336. 4

Question Number : 24 Question Id : 87827049403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgfeiad o O o[ 9 diegyl &f 39 T &

1. HRd & APUFd BT AT

2. HREORYG & Raa® Sy Udrg Uitd &l
3. PG AUIdDICT Bl 1G0T B G BT

4 dfgy gEnyq fAgasd g &1

Options:

878270194333. 1
878270194334. 2
878270194335. 3

878270194336. 4

Question Number : 25 Question Id : 87827049404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the circumstances under which a Member of Parliament can be disqualified under the 10th
Schedule of the Constitution of India

(A). If he has voluntarily given up his membership of his political party

(B). If votes or abstains from voting contrary to direction issued by his political party

(C). A nominated member of a House shall be disqualified if he joins any political party after Six Months
(D). Anominated member of & House shall be disqualified if he joins any political party before Six Months
Choose the correct answer from the options given below:

.(A), (B) and (D) only.

)and (C) only.
(A), (B), (C)and (D)
.(B), (C)and (D) only

Options :

878270194337. 1
878270194338. 2
878270194339. 3

878270194340. 4

Question Number : 25 Question Id : 87827049404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A), (B) ¥R D)
2 a1 (A), (B) R (C)
3.(A), (), (CI3R (D)
4 91 (B), () iR D)

Options :

878270194337. 1
878270194338. 2
878270194339. 3

878270194340. 4

Question Number : 26 Question Id : 87827049405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I List-lI

Legal Maxim Rwiatec Legal Doctrine
(A). Ut lite pendente nihil innovetur (1). onerous gift

(B). Qui facit per allium facit (I1). constructive notice
(C). Nemo dat quod non habet (111). Lis Pendens

(D). Qui sentit commodum sentire debit onus|(IV). oestensible owner

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (1), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}
4. (A) - (I, (B) - (1), (C) - (IV), (D) - (1)

Options :

878270194341. 1
878270194342. 2
878270194343. 3
878270194344. 4

Question Number : 26 Question Id : 87827049405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.(A) - (1), (B) - (IN), (C) - {|||:| (D) - (IV)

2. (A)-(1),(B) - |||} (C)- (), (D) - (V)

3. (A)-(I), (B) - (11}, (C j {I"-_fj (D) - (1)

4 (A)- (), (B) - {II) - (IV), (D) - ()

Options:

878270194341. 1
878270194342. 2
878270194343. 3
878270194344. 4

Question Number : 27 Question Id : 87827049406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following as per the sequence in which they appear in the Criminal Procedure Code.
(A). withdrwal from prosecution

(B). tender of pardon

(C). free legal aid

(D). double jeopardy

Choose the correct answer from the options given below:

Options :

878270194345. 1
878270194346. 2
878270194347.3

878270194348. 4

Question Number : 27 Question Id : 87827049406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A), (B), (C), (D)
2. (A), (B).

3. (B), (A), (D), (C)
4. (D), (C), (B), (A).

Options :

878270194345. 1
878270194346. 2
878270194347.3

878270194348. 4

Question Number : 28 Question Id : 87827049407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following isfare methods of termination of treaty
{A). By consent of parties

(B). By denunciation or withdrawal

(C). By concluding another treaty

(D). According to the provisions of the treaty

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270194349. 1
878270194350. 2
878270194351. 3

878270194352. 4

Question Number : 28 Question Id : 87827049407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafed 7 4 & 9 9 & 39 &3 31 fafd gre?
(A) T &1 FeAld 9

(B) a1 1 It (8e7) B

(C) U =T Y T

(D) Y & UrguHl & HTAR

Td feu e fgwedl § 9 98 S| |

1. @ad( A) (B)31R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)
4. @dd (B), (C) 3R ( D)

Options :

878270194349. 1
878270194350. 2
878270194351. 3

878270194352. 4

Question Number : 29 Question Id : 87827049408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Regard being had to the provisions of the Criminal Procedure Code, 1973 which of the following statement is/are not correct
(A). Criminal Procedure Code came into force on 1st January 1974

(B). The term First Information Report is used in Section 207

(C). The term First Information Report is used in Section 154 and Section 207

(D). There are six columns in the schedule attached to the Criminal Procedure Code

Choose the correct answer from the options given below:

Options :

878270194353. 1
878270194354. 2
878270194355. 3

878270194356. 4

Question Number : 29 Question Id : 87827049408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(C) FYH o1 RUIE Weg &1 YGRT URT 154, 4R1 207 H fog1 a1 g

(D) &3 Wiy Tigdr ¥ Yo 14 H 98 WH (@IH) ©
Hd feu e fowed § 4 U8l SR |

1. &ad (A), (B) 3R (D)
2 ®ad (A), (B) IR (C)
3. (A), (B), (C) 3R (D)
4 $ad (B) 3R (D)

Options :

878270194353. 1
878270194354. 2
878270194355. 3

878270194356. 4

Question Number : 30 Question Id : 87827049409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is an incorrect statement with reference to Universal Declaration of Human Rights (UDHR)
(A). Universal Declaration of Human Rights (UDHR) contians 35 Articles besides the Preamble
(B). Universal Declaration of Human Rights (UDHR) contians 30 Article besides the Preamble

(C). The Draft of Universal Declaration of Human Rights (UDHR) has been adopted in the United Nation General Assembly
on 10th December, 1948

(D). The Draft of Universal Declaration of Human Rights (UDHR) has been adopted in the United Nation General Assembly
on 24th October, 1948

Choose the correct answer from the options given below:

(A), (B)and (D) only.
(A), (B) and (C) only.
(B) and (C) only

(B), (C)and (D) only

1
2
3
4

Options :

878270194357. 1
878270194358. 2
878270194359. 3

878270194360. 4

Question Number : 30 Question Id : 87827049409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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T feu o fodedt 4 8 W8 SR |
1.93q (A), (B) 3R (D)
2%?% )3 (C)
3%?1?1(53%?[0

4 ®91 (B), (C) IR (D)
Options :

878270194357. 1
878270194358. 2
878270194359. 3

878270194360. 4

Question Number : 31 Question Id : 87827049410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who coined the term ‘criminology'?

1. M A_ Elliot

2. Raffaele Garofalo
3. Wiilaim Blackstone
4 Jerome Hall

Options:
878270194361. 1

878270194362. 2



878270194363. 3
878270194364. 4

Question Number : 31 Question Id : 87827049410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o S WL VI 5.1 =
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3. faoH <= A

Options:

878270194361. 1
878270194362. 2
878270194363. 3

878270194364. 4

Question Number : 32 Question Id : 87827049411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who coined the term victimology

1. Raffaele Garofalo

2. Wolfgang and Ferracuti
3. Benjamin Mendelsohn
4 HLAHart

Options :
878270194365. 1

878270194366. 2



878270194367. 3

878270194368. 4

Question Number : 32 Question Id : 87827049411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i e

fafdenall sg BT Yo T faar 2

1. b RG]

2. dieHT AR BRI
3. S HeoeH

4 TG UTUEK

Options:

878270194365. 1
878270194366. 2
878270194367. 3

878270194368. 4

Question Number : 33 Question Id : 87827049412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following case or cases is/are not related with post decisional hearing
(A). Maneka Gandhi v Union of India

(B). H L Terhan v. Union of India

(C). A K Gopalan v State of Madras

(D). Minerva Mills v Union of India

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (C) and (D) only
4 (A)and (B) only.

Options :

878270194369. 1
878270194370. 2
878270194371. 3
878270194372. 4

Question Number : 33 Question Id : 87827049412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) H@1 T §910 YRd 99

(B) T UQ. ogM 919 YRd 99
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(D) forraf e 9| yRa 99
I feu e fasedf § © T8 SR |

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. ®4dd (C) 3R (D)
4. &ad (A) AR (B)

Options :

878270194369. 1
878270194370. 2
878270194371. 3

878270194372. 4

Question Number : 34 Question Id : 87827049413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following case, the Supreme Court has given detailed quidelines so that Section 89 of Code of Civil
Procedure Code can be utilized so as to achieve the best result

1. Gulam Abbas v State of UP.

2. Fathima Bibi Ahmed Patel v State of Gujarat

3. Dhula Bhai v State of M. P.

4. Afcons Infrastructure Ltd. v Cherian Varkey Construction Co. (P) Ltd.

Options:
878270194373. 1

878270194374. 2



878270194375. 3

878270194376. 4

Question Number : 34 Question Id : 87827049413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fegfeifa &  ford el e ey o e e 16T & forer f ot i i a0t 1 89 & g fovay
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Options:

878270194373. 1
878270194374. 2
878270194375. 3

878270194376. 4

Question Number : 35 Question Id : 87827049414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following case, it was held that "all information of collegium discussion can not be disclosed in public domain
only final decisions are to be uploaded on Supreme Court website "

1. Anjali Bhardwaj v CPIO, Supreme Court of India

2. HDFC Bank Ltd. v Union of India

3. Saurav Das v Union of India

4 Supreme Court of India v. Subash Chandra Aggarwal

Options :



878270194377. 1
878270194378. 2
878270194379. 3

878270194380. 4

Question Number : 35 Question Id : 87827049414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 3 ovw et H, 7 SRR o o o1 o o 1t oot S ) 1 S ST T
for 1 901§, v 3o (01 I 0TI 1 Qe Ige R S0aS U o &'

1. 39 YR & . 01 3. il WRa Pl I A
) TR o fffies o YA 99

3, URG 9 S HRA 4

4. I T I T S0 GHIY % ST

Options :

878270194377. 1
878270194378. 2
878270194379. 3

878270194380. 4

Question Number : 36 Question Id : 87827049415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the maximum penalty under the Right to Information Act, 2005 for delay in furnishing the information?
1. Rs 200 per day maximum up to Rs.15000
2. Rs 250 per day maximum up to Rs. 15000
3. Rs 250 per day maximum up to Rs. 25000
4 Rs 500 per day maximum up to Rs. 25000



Options :

878270194381. 1
878270194382. 2
878270194383. 3

878270194384. 4

Question Number : 36 Question Id : 87827049415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 HUSR UFAEH, 2005 & Ted Lo 6 5 o1 & o SiUmaH SHHT fda 82

1. 200 ¥4 Ufd fa Sf¥@ad 15000 UCTH
2 250 304 Ufd & 3fidmad 15000 ¥0C 9@
3 250 304 Ufd & Sfidmad 25000 ¥UT &
4 500 %04 Ufd &7 Mfidmad 25000 ¥UT 0@

Options :

878270194381. 1
878270194382. 2
878270194383. 3
878270194384. 4

Question Number : 37 Question Id : 87827049416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Q strikes X. X by this provocation, is excited o extreme violent rage. Y is a bystander and is an enemy of Q. Y, taking
advantage of this rage of X, puts a knife into X's hand fo cause the death of Q . X kills Q with the knife.

What are the offences committed by X and Y if any?

1. Xand Y have both committed the offence of murder under Section 300 of the Indian Penal Code (IPC)
2. X has committed murder under Section 300 IPC but Y has commitied no offence

3. X has committed only culpable homicide, but Y is guilty of murder under Section 300 IPC

4. Xand'Y have both committed culpable homocide not amounting to murder

Options :

878270194385. 1
878270194386. 2
878270194387. 3

878270194388. 4

Question Number : 37 Question Id : 87827049416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Q X T 37T %l 8, 39 T0I © X el e i o Fou Suied ol o1 ¥ 0 G20 & AR QAT GO BY X 5 T8
TR 1 BTG 96T 5, Q 1 51 1 RV 4 [T X & €14 5 U 719 Sd €1 X, Qb1 6 Y AR &l gl

1 P13 31 ol X3 Y g o 0 Sy 82

1. X R Y G et 3 ke (e @) 41 300 % e s @1 iy v TR
2 X HTSUd 1 ¢R1 300 & 2t Bl BIa a1 £ it Y A5 Ny e oo 8

3. X 7 e AIYE A 34 o 5, i Y el 91 61 300 & R s ad

4 X3R Y G H 31 91 ife 5 3 a1l ST A 3y IR o

Options:

878270194385. 1
878270194386. 2
878270194387.3

878270194388. 4



Question Number : 38 Question Id : 87827049417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nayan meets Bala on the high roads, shows a pistol and demands from Bala all the valuables that she is in possession.
She surrenders her gold bangles, and all cash money. Here Nayan has committed which of the following offence?

1. Extortion
2. Robbery
3. Theft

4 Dacoity

Options:

878270194389. 1
878270194390. 2
878270194391. 3

878270194392. 4

Question Number : 38 Question Id : 87827049417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR % U TR e o 8, 0 U e & o 9 e el e it T 5 & s 0 1 5 o
T 1 U R TR T U0 Gol €| gl g o e # @ i 1 o fovan 2

1, S el (SEGH )

2.T¢

3.9

4. 3ol
Options :

878270194389. 1
878270194390. 2
878270194391. 3



878270194392. 4

Question Number : 39 Question Id : 87827049418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following case has the Supreme Court held that teachers are not ‘'workman' under Section 2(s) of the
Industrial Disputes Act, 19477

1. Workmen of Dimakuchi Tea Estate v. Management of Dimakuchi Tea Estate, AIR 1958 SC 353
2. HR. Adyathaya v. Sandoz (India) Ltd. (1994) 5 SCC 737

3. J.H. Jadhavv. Forbes Gokak Ltd. (2005)3 SCC 202

4 A Sundarambal v. Government of Goa, Daman & Diu, AIR 1988 SC 1700

Options :

878270194393. 1
878270194394. 2
878270194395. 3
878270194396. 4

Question Number : 39 Question Id : 87827049418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foafoian o 2 for Al & zon oy 3 o et v 2 o e, ol foar o, 1047 31 eR12(9) &
i TR TR

1. Sl & Te o BRI ST €1 TR T U, USSR 1958 T 353
2 T 3R, S 1 51t ) ffes (1994) 5 Tl 737

3,91, T, 9149 &0 s T fafires (2005) 3 Taeie 20

4. e & T, A R 10 TR, TSR 1988 TR 1700

Options :

878270194393. 1



878270194394. 2
878270194395. 3

878270194396. 4

Question Number : 40 Question Id : 87827049419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is/are the objective(s) behind the enactment of the Securities and Exchange Board of India Act,
19927

(A). To protect the inferest of investors in securities

(B). To promote the development of securities market

(C). To ensure that the Indian securities market works af par with markets of other developed nations
(D). To requlate the securities market

Choose the correct answer from the options given below

B) only.

A), (B) and (D) only.
A), (C)and (D) only
B)

(
(
(
(B) and (D) only

1
‘5
3:
4

Options:

878270194397. 1
878270194398. 2
878270194399. 3

878270194400. 4

Question Number : 40 Question Id : 87827049419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR v o fafmg 91 affam. 1000 & oftfiom & e PeRfEa A A e OR R
(A) Sferyferdt © et o feal o1 & B
(B) WAYfd TR & o @1 gg@r &

(C ) T3 G ST 1 YRATT Tiofe IR 3 fomia ol & o) & aXTae e &Y
(D) Wfafa IToIR @1 fafafid &
i feu e faded! 4 9 98 SR |

Options :

878270194397. 1
878270194398. 2
878270194399. 3

878270194400. 4

Question Number : 41 Question Id : 87827049420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I List-I

Legal Proposition Case Law

A). Doctrine of Indoor

A (). Gilford Motor Co. Ltd. v Home (1933)1 Ch 935
Management

(B). Doctrine of Ultra Vires (I1). Earlanger v. New Sombrero Phosphate Co. (1876)3 AC 1218

(C). Lifting of Corporate Veil (II1). Kotla Veenkataswamy v. Chinta Ramamurthy, AIR 1934 Mad 579

(IV). Dr. A. Lakshmanaswami Mudaliar v. Life Insurance Corporation of India, AIR 1963

D). Duties of Promot
(D). Duties of Promoters SC 118

Choose the correct answer from the options given below:

1.(A)- (), (B)- (1), (C)- (1), (D)- (IV)

2.(A)-(It), (B)- (I, (C)- (1), (D) - (V)

3.(A)-(IV), (B)- (1), (C)- (1), (D) - (I

4 (A)- (N, (B)- (IV), (C) - (1), (D) - I
Options :

878270194401. 1
878270194402. 2
878270194403. 3
878270194404. 4

Question Number : 41 Question Id : 87827049420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- R Tl @l AT B

| il

(Fafie e ) (Faf o)

(A) Hi GTSR ) e 31 i) Frais Aies St e &M 8 (1933) 1 Ch 935

(B) 31721 IT0E 1 g (Il SR &1 = TR HiGe oAt (1878) 3 TE1 1218

(C) FIRE TR gl () e dewam & fefd T, T o, . 1934 TH U 1579

(D) Wil & S (V) ST T isAuraTe! TefmR o MRt oia R, TATga 1963 TEE 1185
A e T fowed! € 981 IR |
1. (A)- (I, (B) - (11}, (C)- (1), (D) - (IV)
2. (A ) (B)- (), (C)- (1), (D) - (V)
3. (A)-(IV), (B) - (1), (C) - (1), (D) - (1)
4_(A)- (I, () - (1), (C) - (1), (D) - ()
Options :

878270194401. 1
878270194402. 2
878270194403. 3

878270194404. 4

Question Number : 42 Question Id : 87827049421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a valid contract?

1. A aman feebled by disease, Is induced, by B's influence over him as his medical attendant, to agree to pay B an
unreasonable sum for his professional services.

2. A being entitled to an estate for the life of B, agrees tosell itto C. B was dead at the time of the agreement, but both
parties were ignorant of the fact

3. A with free consent agrees to sell a horse worth Rs. 1,000 for Rs. 10.

4. A promises B to drop a prosecution which he has instituted against B for robbery, and B promises to restore the value of
the things taken.

Options:

878270194405. 1



878270194406. 2
878270194407. 3

878270194408. 4

Question Number : 42 Question Id : 87827049421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frifer A an g @ dy T &

T80 o W 7 B G R B G s 6 A R R AR

2. A1 B & W1dH I a il GOl R E0GR g & RV, AT C 1 o o ol TgWal el 6, B Wil & W TR T ]
il & 06 39 7 © o U

3.A, T e o 1Y 1000 ¥ T 1 U1 10 S H o o ol WG 51

4.A B ¥ U@ THGH I3 1 911 G & o8 9 B & s o & e a1 f e, B R A s
78 T 19 ol o

Options:

878270194405. 1
878270194406. 2
878270194407.3

878270194408. 4

Question Number : 43 Question Id : 87827049422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X holds a'Y at gun point and makes him sign a gift deed of all Y's properties in favour of G, X's daughter. This agreement is
(A). Valid if ratifed by Y

(B). Void if rescinded by Y

(C). Void ab-initio

(D). Valid at the option of X

Choose the correct answer from the options given below

1.(B) only

2.(B)and (C)

3.(C) only

4 (A)and (B

Options :
8782701944009. 1
878270194410. 2
878270194411.3

878270194412. 4

Question Number : 43 Question Id : 87827049422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X 95 &1 716 R Y &1 TG 5 4R 38 A0 (X 3 I8 6 & 0 51 90 SOl o IR oo W geR e @ el
Tl ¢ T8 Tl

() 7% Y g srifa frm T g A du R
B)TITHRY T & oo
() TRY T

(D)X & AR Y

3 e fowedt § S T ST

1. %ad (B)

2 Bad (B) IR (C)

3 %44 (C)

4 B3 (A) 3R (B)

Options :

878270194409. 1
878270194410. 2
878270194411.3

878270194412. 4

Question Number : 44 Question Id : 87827049423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Madhu, an unpaid seller, can exercise the right of lien provided under the Sale of Goods Act, 1930, under which of the
follwing circumstances?

(A). Before the contract of sale has been concluded

(B). When the goods are in the possession of Madhu

(C). After the agent of the buyer has collected the goods but before the buyer has received the same
(D). After the goods have been delivered to the carrier but the goods have not reached the buyer

Choose the correct answer from the options given below:

1.(A), (B) and (D) only
2.(C) and (D) only.

3. (A) only.

4.(B) only.

Options :

878270194413. 1
878270194414. 2
878270194415. 3

878270194416. 4

Question Number : 44 Question Id : 87827049423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U@ a0 ol 7Y, 71 o ot SR, 1930 9 Gl W Fd T TR & S il S
fort fmfeifed Ry & T 37

(A) ool 1 ] T A e
(B) 4 7l MY & el A

(C) BHIER & Tole g1 T U ¥ o a1C o] BRI @1 WHH W B 9 Tl
(D) ¥ 5 5% 8 e o I a5 G it 1 TR 68 ] Ul &
T um i H Y o T

Options :

878270194413. 1
878270194414. 2
878270194415. 3

878270194416. 4

Question Number : 45 Question Id : 87827049424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiralal Traders, a partnership firm enters into a supply contract in March 2020 with Pimala Ltd. for providing 100 bales of
cotton for the next 3 years as raw materials to them. X was introduced as a partner in the firm in April 2023. In May 2023,
Pimala Ltd. sued the firm and its partners for failure to supply the cotton bales as agreed. In the given suit determine the
liability of X.

1. X1s liable for the act of the firm since all partners are jointly and severally liable under sections 25 and 26 of the Indian
Partnership Act, 1932

2. Xis not liable as per Section 31(2) of the Indian Partnership Act, 1932
3. X's liability would depend on the fact that whether Pimala Ltd. has named X in the suit instituted by them
4. X's liability would depend on the time of the default that was made



Options :

878270194417. 1
878270194418. 2
878270194419. 3
878270194420. 4

Question Number : 45 Question Id : 87827049424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

70 TRIGR! B BTl cod = A1 2020 & dren fiftes o T o ey ool s S ed T 6 0 7 o1 3 W1
& o g @1 100 718 T @1 1 W1 X B 3k 2023 % B ¥ 0 MR & 0 S g o 2023 %
G fefies Wi o S 6 U 1 T3] @1 A1 et B Wil & 108 B IR 99 HTGR] (R e G [
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Ty

1. X B¥ o B a o el § it T MR MR St Afiam, 1932 1 4R 25 3R 26 & g Y ®9 4
2. X IRATG Werd T, 1932 1 R1 31 (2) & IR SRed T 3|

3. X 01 T 38 W R IR 3 & o den e 4 370 R R e S X e e €

4 X1 e 0 T feice & 9 R AR e

Options :

878270194417.1
878270194418. 2
878270194419. 3
878270194420. 4

Question Number : 46 Question Id : 87827049425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Xand Y, both Hindus, married in 2022. X, the husband was 21 years of age while the wife was 16 years of age. According
to the provisons of the Hindu Marriage Act, 1955 (HMA), this marriage is -

1. Void marriage under Section 11 HMA

2. Voidable marriage under Section 10 HMA

3. May be Void or Voidable as desired by the parties
4 Valid marriage

Options :

878270194421.1
878270194422. 2
878270194423.3
878270194424. 4

Question Number : 46 Question Id : 87827049425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
X AR Y G fRgell = 2022 # fare foan 1 ol X 1 3 24 a9 off ofaeb el 1 3 16 9 ot R foe v, 1995
(TIUHT) & TG o 38R, B¢ 9a & -

1.7 WU 3191 11 670 e Y ¢

2 YR0 . T, T 4 fo qoatia e

3. W& g1 i T 9 94 1 UG B9 3
4 qyfae

Options:

878270194421. 1
878270194422.2
878270194423. 3

878270194424. 4

Question Number : 47 Question Id : 87827049426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Match List-l with List-ll

List-| List-Il

Legal Concept, etc. Related case laws, efc.
(A). Mother as natural guardian (1) T. Sareetha v. T. Venkata Subbaiah, AIR 1983 AP 356

(B). Conversion and Marriage  |(Il). State of Bombay v. Narasu Appa Mail, AIR 1952 Bom 84

(C). Bigamy (I1). Smt. Sarla Mudgal v. Union of India {1995) 3 SCC 635

(D). Restitution of Conjugal Rights|(IV).Githa Hariharan v. Reserve Bank of India, AIR 1999 SC 1149

Choose the correct answer from the options given below:

1.(A)-(IV), (B) - (l), (C) - (l), (D) - (1)

2. (A)-(IV), (B) - In, (C) - (t), (D) - (1

3. (A)-(It), (B) - (IV), (C) - (l), (D) - (1)

4.(A)-(It), (B) - (IIN), (C) - (V), (D) - (1)
Options :

878270194425. 1
878270194426. 2
878270194427. 3

878270194428. 4

Question Number : 47 Question Id : 87827049426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



St -| BT -l G AT Bt

it -

(@I @uRom, onfe) |t fafire ame, anf)

A) Wi TR4E & w9 H 7)(1 ) < GRa §M &, dbe geu, T g, W 1983 T . 356
(B)mfauT iR faars (I1) SFest T S A, ST 5, U 5. HR. 1952 79 84

(C)fgfaarg (1) it S g & YR 99 (1995) 3 THHE 635

(D) ST BRI B FgTen |(IV FiaT sitewa o9 yReg Roid §%, T 35, 3R, 1999 U9, 91, 1149
e e R ]

1. (A) - (IV), (B) - (1), (C) - (), (D) - (1)

2. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)

3. (A) - (I1), (B) - (IV), (C) - (1), (D) - (1)

4. (A)-(I1), (B) - (1), (C) - (IV), (D) - (1)
Options :

878270194425. 1
878270194426. 2
878270194427. 3

878270194428. 4

Question Number : 48 Question Id : 87827049427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following case does not pertain to maintainance of Muslim women?

1. Mohd. Ahmed Khan v. Shah Bano Begum (1985) 2 SCC 556

2. Shabana Bano v. Imran Khan (2009) 1 SCC 666

3. Ahmedabad Women Action Group v. Union of India (1997) 3 SCC 573
4. Danial Latifi v. Union of India (2001) 7 SCC 740

Options:
878270194429. 1
878270194430. 2

878270194431. 3



878270194432. 4

Question Number : 48 Question Id : 87827049427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeiad 5 9 o 91 3 Gk Al & *Ru-Ub ¥ Jdfed Ta1 82

1. HigWG. 3fEHS W 919 8 a1-1 &9 (1985) 2 THHIHT 556
2. TEMFT §F1 9919 3HH @ (2009) 1 T 666

3. 3(gHaIdlg Higal UaRH g9 9414 YR 99 (1997) 3 TodiE! 573
4. I/ Tditl §-H HRd Y (2001) 7 TEHIE! 740

Options :

878270194429. 1
878270194430. 2
878270194431. 3

878270194432. 4

Question Number : 49 Question Id : 87827049428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a condition for a valid adoption under Section 11 of the Hindu Adoptions and Maintenance
Adt, 19567

1. The same child may be adopted by two or more persons simultaneously

2. If the adoption is by a female and the person to be adopted is a male, the adoptive mother must be atleast twenty-one
years older than the child to be adopted

3. If the adoption is of & son, the adoptive parents must not have a Hindu son, son's son or son's son's son living at the time
of the adoption

4. The child to be adopted must be actually given and taken in adoption

Options :

878270194433. 1



878270194434. 2
878270194435. 3

878270194436. 4

Question Number : 49 Question Id : 87827049428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
12, & U HRUL T S, 1956 1 eRT 11 T a4 71G o  Feie Mg & § i ) X Ta) 62

1. U0 & o 1 31 91 ¢l Y e ot U 9 7l o e |
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SRR

331 T e S a1 @', 7 o a1 A1 6 g O, G T GO I 6 1 TG T G e
FRIEIRY

4. 7T T4 W ) ] 1 A1 4 foa I e R 11 Fordl o e

Options:

878270194433. 1
878270194434. 2
878270194435. 3

878270194436. 4

Question Number : 50 Question Id : 87827049429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mr. Ceaser, an Indian, derives income from various sources. in the FY 2021-2022, he gained Rs. 50,000 from trading of
shares and ofher securities in the share market and their dividends. This income will be calculated under which of the
following heads of income under the Income Tax Act, 1969?

1. Profitand Gains from Business and Profession

2. Capital Gains

3. Income from Other Sources

4. Both Income from Other Sources and Capital Gains

Options :

878270194437. 1
878270194438. 2
878270194439. 3

878270194440. 4

Question Number : 50 Question Id : 87827049429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
T3 YR 9 R ol S ¥ S e v ¢ (o0 9 20212022 7 I IR ASRAR 706 A & IR IR 3

Tt TR 950,000 TG FhdT | 3 37/ 3 T 1R TG, 1960 o el Mt 11 o fab S o e
&

1, 099 3R U Y T 3R et

3 ¥ 4
4 3 A1 8 31 3R Qo et G

Options:

878270194437. 1
878270194438. 2
878270194439. 3

878270194440. 4

Question Number : 51 Question Id : 87827049430 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Section 17 of the Income Tax Act. 1969 deals with -

1. 'Salaries' Only

2. 'Deduction from Salary’ and 'Salary’

3. Heads of Income and Expenditure

4 'Salary’, 'Perquisite’ and 'Profits in lieu of Salary’

Options :

878270194441. 1
878270194442. 2
878270194443. 3

878270194444. 4

Question Number : 51 Question Id : 87827049430 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S AETH. 1969 B 4RT 17 i 4 dafia &: -

3. 31 3R o0y & 2y
4. qa, "SR daH & 96 Ay

Options :

878270194441. 1
878270194442. 2
878270194443. 3

878270194444, 4



Question Number : 52 Question Id : 87827049431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following provisions under the Hindu Marriage Act, 195 in sequence of the sections as they appear in the Act
(A). Legitimacy of children of void and voidable marriages

(B). Maintenance pendente lite and expenses of proceedings

(C). Ceremonies for a Hindu Marriage

(D). Reqistration of Hindu marriages

Choose the correct answer from the options given below:

Options:

878270194445. 1
878270194446. 2
878270194447. 3

878270194448. 4

Question Number : 52 Question Id : 87827049431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194445. 1
878270194446. 2
878270194447.3

878270194448. 4

Question Number : 53 Question Id : 87827049432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following landmark decisions of contract law in the sequence of them being pronounced by the courts
(A). Mohori Bibi v. Dharmodas Ghose

(B). Bhagwan Das Goverdhan Das Kedia v. Girdhari Lal & Co.

(C). Carlil v. Carbolic Smoke Ball Co

(D). Lalman Shukla v. Gauri Dutt

Choose the correct answer from the options given below:

Options :

878270194449. 1
878270194450. 2
878270194451. 3

878270194452. 4

Question Number : 53 Question Id : 87827049432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194449. 1
878270194450. 2
878270194451. 3
878270194452. 4

Question Number : 54 Question Id : 87827049433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a principle of an Insurance Contract?

. Causa Proxima

. Mitigation of Risk

. subbrogation

. Donatio mortis causa

B T o

Options:

878270194453. 1
878270194454. 2
878270194455. 3



878270194456. 4

Question Number : 54 Question Id : 87827049433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194453. 1
878270194454, 2
878270194455, 3
878270194456. 4

Question Number : 55 Question Id : 87827049434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under the Marine Insurance Act, 1963, a marine insurance contract may protect the assured against risks incidental o sea
voyage and covers such losses on:

1. Inland waters Only

2. any land risk only

3. Both inland waters and land risks
4. Neither infand waters nor land risks

Options :
878270194457. 1

878270194458. 2



878270194459. 3

878270194460. 4

Question Number : 55 Question Id : 87827049434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. B HAIGHY e

2 o o S E

3. G T oY Y, T
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Options:

878270194457. 1
878270194458. 2
878270194459. 3

878270194460. 4

Question Number : 56 Question Id : 87827049435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'While pronouncing the constitutionality of a statute, the courts must start with the presumption in favour of its
constitutionality’

Which of the following legal maxims iterate this principle under the rules of interpretation of statutes?

1. Expressio unius est exclusio alterius
2. Noscitur a sociis

3. Generalia specialibus non derogant
4 Ut res magis valeat quam pareat

Options :



878270194461. 1
878270194462. 2
878270194463. 3

878270194464. 4

Question Number : 56 Question Id : 87827049435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194461. 1
878270194462. 2
878270194463. 3

878270194464. 4

Question Number : 57 Question Id : 87827049436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is NOT an internal aid in the interpretation of Statutes?

1. Preamble

2. Parliamentary Notes
J. Long Title

4. Marginal Notes

Options :

878270194465. 1
878270194466. 2
878270194467. 3

878270194468. 4

Question Number : 57 Question Id : 87827049436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194465. 1
878270194466. 2
878270194467. 3

878270194468. 4

Question Number : 58 Question Id : 87827049437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is considered to be an 'anti-competitive agreement' under Section 3 of the Competition Act, 2002
(A). Supply agreement

(B). Exclusive distribution agreement

(C). Tie-In agreements

(D). Resale price maintenance

Choose the correct answer from the options given below

D) only

A), (C) and (D) only
A) and (C) only

B), (C) and (D) only

— p— p—

1
2
3
4

Options :

878270194469. 1
878270194470. 2
878270194471.3

878270194472. 4

Question Number : 58 Question Id : 87827049437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194469. 1
878270194470. 2
878270194471.3

878270194472. 4

Question Number : 59 Question Id : 87827049438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



While inquiring that whether an enterprise enjoys a dominant position under Section 4 of the Competition Act, 2002, which
of the following factors are to be considered?

(A). Dependence of consumers on the enterprise

(B). Market share of the enterprise

(C). Creation of barriers for new entrants in the market
(D). Counterveiling buying power

Choose the correct answer from the options given below:

1.(A)
2.(B)an
3.(A),
4.(B),

(B) and (D) only.
and (C) only.

(B), (C)and (D).
(C)and (D) only

—_— e ~T

Options :

878270194473. 1
878270194474. 2
878270194475. 3

878270194476. 4

Question Number : 59 Question Id : 87827049438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194473. 1
878270194474. 2
878270194475. 3

878270194476. 4

Question Number : 60 Question Id : 87827049439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Statutes based on the year of their enactment.
{A). The Forest (Conservation) Act

(B). The Wildlife (Protection) Act

(C). The National Green Tribunal Act

(D). The Environment (Protection) Act

Choose the correct answer from the options given below:

1. (A), (B), (D), (C)
2. (B), (D), (A), (C)
3. (B), (A), (D), (C)
4. (A), (B), (D), (C)

Options :

878270194477.1
878270194478. 2
878270194479. 3
878270194480. 4

Question Number : 60 Question Id : 87827049439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A), (B), (D), (C)
2.(B), (D), (A), (C).
3. (B), (A), (D), (C).
4 (A), (B), (D), (C).
Options :
878270194477. 1
878270194478. 2
878270194479. 3
878270194480. 4

Question Number : 61 Question Id : 87827049440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which of the following judgments did the Supreme Court hold that the Environment (Protection) Act, 1966 does not
prohibit the Issuance of ex-post facto Environmental Clearance?

1. M/S Pahwa Plastics Pvt. Ltd. v. Dastak NGO, SC judgment dated: 25-03-2022

2. Almitra H. Patel v. Union of India, SC judgment dated: 15-02-2000

3. KM. Chinnappa, TN. Godavarman Thirumalpad v. Union of India, SC judgment dated: 30-10-2002
4.5, Jagannath v. Union of India, SC judgment dated: 11-12-1996

Options:
878270194481. 1

878270194482. 2



878270194483. 3

878270194484. 4

Question Number : 61 Question Id : 87827049440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194481. 1
878270194482. 2
878270194483. 3

878270194484. 4

Question Number : 62 Question Id : 87827049441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Section 27(2) of the Trade Marks Act, 1999, enshrines which of the following principles of trademark law?

1. Deceptive Similarity

2. Passing Off

3. Phonetic similarity in trademarks
4 Visual similarity in trademarks

Options :



878270194485. 1
878270194486. 2
878270194487. 3

878270194488. 4

Question Number : 62 Question Id : 87827049441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194485. 1
878270194486. 2
878270194487. 3

878270194488. 4

Question Number : 63 Question Id : 87827049442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the maximum punishment that can be imposed for criminal contempt under the Contempt of Courts Act 1971 1n
India?

1. Fine of Rs. 10,000

2. Fine of Rs. 10,000 and 3 months imprisonment
3. Fine of Rs. 20,000 and 6 months imprisonment
4 Disqualification from legal practice



Options :

878270194489. 1
878270194490. 2
878270194491. 3

878270194492. 4

Question Number : 63 Question Id : 87827049442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194489. 1
878270194490. 2
878270194491. 3
878270194492. 4

Question Number : 64 Question Id : 87827049443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following chapters under the Companies Act as per the sequence in which they appear in the statute
(A). Compromise, arrangements and amalgamation

(B). Prevention of oppression and mismanagement

(C). Megtings of Board and its power

(D). Appointment and qualifications of Directors

Choose the correct answer from the options given below:

Options :

878270194493. 1
878270194494. 2
878270194495. 3

878270194496. 4

Question Number : 64 Question Id : 87827049443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.(C), (D), (B), (A)
2. (D), (C), (B), (A).
3. (B), (A), (D), (C)
4. (D), (C), (A), (B)
Options :

878270194493. 1
878270194494. 2
878270194495. 3

878270194496. 4

Question Number : 65 Question Id : 87827049444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The definition of Geographical Indication in relation to goods means an indication which identifies:

(A). such goods as originating in the territory of a country, region or locality

(B). such goods that are exclusively grown or produced in the said territory, region or locality of the country
(C). such goods having a reputation or characteristics that is attributable to its geographical origin

(D). that in case such goods are manufactured then either production, processing or preparation of the goods takes place in
such territory, region or locality of the country

Choose the correct answer from the options given below:

1. (A),
2.(A) and
3.(B),
4.(B) and

C)and (D) only
(C) only.
C)and (D) only
(C)only

m,_._hm,-_h

Options :

878270194497. 1
878270194498. 2
878270194499. 3

878270194500. 4

Question Number : 65 Question Id : 87827049444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194497. 1
878270194498. 2
878270194499. 3

878270194500. 4

Question Number : 66 Question Id : 87827049445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Author’ in relation to any musical or artistic work which is computer generated is:

1. The composer

2. The artist

3. The Performer

4 The person who caused the work to be created

Options:
878270194501. 1
878270194502. 2

878270194503. 3



878270194504. 4

Question Number : 66 Question Id : 87827049445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194501. 1
878270194502. 2
878270194503. 3

878270194504. 4

Question Number : 67 Question Id : 87827049446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under which International Instrument/mechanism can a party bring a claim for violation of its intemational frade rights and
obligations against another member state of ihe World Trade Organisation (WTO)?

1. The UN Charter

2. WIPQ (World Intellectual Property Organisation)
3. Vienna Convention on Diplomatic Relations

4. Dispute Settlement Understanding (DSU)

Options :

878270194505. 1



878270194506. 2
878270194507. 3

878270194508. 4

Question Number : 67 Question Id : 87827049446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
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Options:

878270194505. 1
878270194506. 2
878270194507. 3

878270194508. 4

Question Number : 68 Question Id : 87827049447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which International Organisation is primarily responsible for standardising terms used in international sales confract
including Incoterms?

1. UNCTAD
2. UNCITRAL
3.WTO
4150

Options :



8782701945009. 1
878270194510. 2
878270194511. 3

878270194512. 4

Question Number : 68 Question Id : 87827049447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

8782701945009. 1
878270194510. 2
878270194511. 3

878270194512. 4

Question Number : 69 Question Id : 87827049448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-lI

Legal Maxim Case Law

(A). Injuria sine Damno |(1). Gloucester Grammer School case

(B). Damnum sine Injuria|(ll). Nichols v. Marsland

(C). Volenti non fit injuria |(111). Bhim Singh v. State of Jammu & Kashmir

(D). Force majeur (IV). Padmavati v. Dugganaika

Choose the correct answer from the options given below:

1. (A) - (D), (B) - (I1), (C) - (IV), (D) - (11}

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (lln), (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270194513. 1
878270194514. 2
878270194515. 3

878270194516. 4

Question Number : 69 Question Id : 87827049448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.(A) - (1), (B) - (1), (C) - (IV), (D) - (1)
2. (A) - (1), (B) - (11}, (C) - (1), (D} - (IV)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (1)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270194513. 1
878270194514, 2
878270194515. 3

878270194516. 4

Question Number : 70 Question Id : 87827049449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When the plaintiff by his own want of care contributes to the damage caused by the wrongful conduct of the defendant, it
Is considered to be

1. Remoteness of damage
2. Contributory negligence
3. Inevitable accident

4 Nuisance

Options :

878270194517. 1
878270194518. 2
878270194519. 3



878270194520. 4

Question Number : 70 Question Id : 87827049449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194517. 1
878270194518. 2
878270194519. 3
878270194520. 4

Question Number : 71 Question Id : 87827049450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a valid purpose of spending the general funds of a Trade Union under section 15 of the Trade
Union Act, 19267

1. Conduct of trade disputes on behalf of the Trade Union

2. Payment of funeral expenses of deceased members

3. Payment of expenses incurred by & candidate for election as a member of any legislative body constituted under the
Indian Constitution

4 Provide educational benefits to the members or their dependants

Options :
878270194521. 1

878270194522. 2



878270194523. 3
878270194524. 4

Question Number : 71 Question Id : 87827049450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194521. 1
878270194522. 2
878270194523. 3

878270194524. 4

Question Number : 72 Question Id : 87827049451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following isfare cases NOT pertaining to dishonour of cheque under the Negotiable Instruments Act, 1661?
(A). Modi Cements Ltd. v. Kuchil Kumar Nandi (1998)3 SCC 249

(B). Indian Overseas Bank v. Industrial Chain Concern (1990)1 SCC 484

(C). Dashrath Rupsingh Rathod v. State of Maharashtra (2014) 9 SCC 129

(D). G.J. Raja v. Tejraj Surana, AIR 2019 SC 3617

Choose the correct answer from the options given below:

1.(B)and (C) only

2. (B) only.

3. (A) only.

4 (C)and (D) only.
Options :

878270194525. 1
878270194526. 2
878270194527. 3

878270194528. 4

Question Number : 72 Question Id : 87827049451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oo ¥ ¥ @ 9 90 Wer foRad g9, 1881 & otiF I & oFTeY 3 Gafid Tal o 2

s

fRIHCS S Bidel PAR ol (1998) 3 THHd 249

(A) TE ey

(B) 33T SHavdiel 9% S TSTd o Hu (1990) 1 TH 484

(C) TIRY TG VSIS §1H HERIY Tl (2014) 9 THET 129

(D) . 1. o7 §TH oSl G, TSR 2019 THE1 3817
T4 feu T faded € 98 S |

1. %ad (B) M (C)
2 %ad (B)
3. 3ad (A)
4 %ad (C) 3R (D)

Options :

878270194525. 1
878270194526. 2
878270194527.3
878270194528. 4

Question Number : 73 Question Id : 87827049452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As per Section 35A of the Banking Regulation Act, 1949, the Reserve bank has the power to give directions under which of
the following circumstances?

(A). In public interest

(B). In the interest of public policy

(C). to secure proper management of banking companies

(D). to prevent affairs of banking companies being conducted in matter detrimental fo depositor's interest
Choose the correct answer from the options given below:

1.(A)and
2.(A),
3.(A),
4.(B)

D) only
C) and (D) only
B), (C)and (D).
nd (D) only.

ﬂ),—-—._d—-—._ﬂj

Options :

878270194529. 1
878270194530. 2
878270194531. 3

878270194532. 4

Question Number : 73 Question Id : 87827049452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 394 (A) iR (D)
2 &4 (A), (C) 3R (D)
3. (A), (B), (€} (D)
4 g (B) R D)

Options :

878270194529. 1
878270194530. 2
878270194531. 3

878270194532. 4

Question Number : 74 Question Id : 87827049453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sequence the following as per Section 300 of the Indian Penal Code, 1860
{A). sudden and grave provocation

(B). act done in good faith for the exercise of right to private defence

(C). death caused with mutual consent

(D). act done in sudden fight

Choose the correct answer from the options given below:

1. (A), (B), (C), (D).

2. (A), (B), (D), (C).

3. (B), (A), (D), (C).

4 (C), (B), (D), (A).
Options :

878270194533. 1
878270194534. 2
878270194535. 3

878270194536. 4

Question Number : 74 Question Id : 87827049453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A), (B), (
2. (A), (B), (

3. (B), (A), (

4 (C), (B), (D

C). (D)
D). (C)
D). (C)
). (A).
Options :

878270194533. 1
878270194534. 2
878270194535. 3

878270194536. 4

Question Number : 75 Question Id : 87827049454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll
Legal Doctrine ete. Case law
(A). Negligence (1). Municipal Corporation Delhi v Subhagwanti

(B).Strict liability (11). Ryland v Fletcher

(C). Res ipsa loguter [(III). Winterbottom v Wright

(D). Nuisance (V). Campbell v Paddington Corporation

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (I, (B) - (1), (C) - (1), (D) - (IV)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (Il
Options :

878270194537. 1
878270194538. 2
878270194539. 3

878270194540. 4

Question Number : 75 Question Id : 87827049454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.(A)-(), (B
2. (A)-(), (B
3. (A) - (lI),

)
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(1), (C) - (I, (D) - (IV)
1),
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(C) - (1), (D) - (IV)

). (C) - (1), (D) - (V)

ok
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270194537. 1
878270194538. 2
878270194539. 3

878270194540. 4



